Efficiency vs P,

0.1

0.07

0.06F---+----immmennnnees Feeenens R
0.05 ipeeeemeneees b e

0.04

0.02

0.0

T SRR S S S—
T N S A S

0.03 e Beefe e e

.................................................

VS

1 Lk o o Rl SRR

0.95

107 1 10 10? 10°

—=— DQM_TT__mkFit-DQM_pless_orig
—— DQM_TT__mkFit-DQM_pless_modi3

I : :
0.00F++-e-ereeserdennenes AR ..
O R S S e e
0.07F | s S o
R TS s R -
0.052—----{. ............... e H
0.04F it it b I
0.03F it 1|
002+ ft¢ o ARIL I i 2
0.0 R R R S E
V) TP SR 1 PR PPN R Pt ° PR Y
-3 5 LI IE] )
095 T 3

Efficiency vs ¢

0.05

0.045F;




	Contents
	Page 1


